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ﬁfg TREOBBOEILADKES TREOHBEEILNDOKRES TREOBBORILEHDKRES TREOHESSLENDOKRES
&S X 4 _(E;;é) ‘Fﬁn”ﬁfJ\(rE;)o)EE%’E 73(&3&"?1;‘:)3 X 4 Tﬁﬁﬂg\%‘é@;k$ ‘(.%r‘n? jj(ﬁﬁié X 4 ‘(,é,;né; J:ﬁn“ﬁb\(:‘;)o)tt%‘ jj(g;ﬁf)é X 4 J:ﬁﬁ”ﬁ;b\(i)d)tt% ‘(&3 ﬁﬁfﬁé
' 100kN/m%#8 % % 1.00| 000 ~ 3.18 150.87 |3mZ#EA 5| 000 ~ 054 | 3.33 16.85 | 100kN/m#%# x5 | 1.00 [11.28 ~ 2857 150.87 |3m##Bx5[25.00 ~ 2857 | 3.33 16.85
ThLst 1.00 | 3.18 ~ 1097 100.00 | Zn A4t | 0.54 ~ 10.97 | 3.00 15.16 zhLs 1.00 | 5,00 ~ 11.28 100.00 | #hllst | 5.00 ~ 25.00 | 3.00 15.16
) 100kN/mZ#8%5%| 1.00| 000 ~ 290 14589 |3mZEH#BZ -~ - — —| 100kN/MiZ#B%%| 1.00 |10.90 ~ 24.50 145.89 |3mZE#BZ 5 -~ = - -
zh st 1.00| 290 ~ 10.68 100.00 | Zh A4t | 0.00 ~ 10.68 | 2.88 14.58 znLs 1.00 | 500 ~ 10.90 100.00 | ZhLlst | 5.00 ~ 2450 | 2.88 14.58
4 100kN/mM#E#BZ % 1.00| 000 ~ 3.30 152.85 |3m%x#EZ 5| 000 ~ 0.25| 3.14 15.86 | 100kN/mi%#8x 5| 1.00 [10.61 ~ 29.27 152.85 |3m%*iEZ5|25.00 ~ 29.27 | 3.14 15.86
znst 1.00 | 3.30 ~ 11.08 100.00 | Zhkist | 025 ~ 11.08 | 3.00 15.16 Zzhus 1.00 | 500 ~ 10.61 100.00 | Zhkist | 5.00 ~ 2500 | 3.00 15.16
A 100kN/m#%#%%| 1.00]| 000 ~ 3.14 150.14 |3m%i#&Z 5| 000 ~ 020 3.10 15.67 | 100kN/miZ#8%%| 1.00 (1056 ~ 30.38 150.14 | 3m%#8x5|30.00 ~ 30.38 | 3.10 15.67
zhLst 1.00| 3.14 ~ 10.93 100.00 | =1 ld4t | 0.20 ~ 10.93 | 3.00 15.16 ThLs 1.00 | 5,00 ~ 10.56 100.00 | #hllst | 5.00 ~ 30.00 | 3.00 15.16
s 100kN/m%#8%%| 100 000 ~ 3.24 151.82 |3m%i#BZ 5| 000 ~ 040 3.23 16.33 | 100kN/miZi#8Z% | 1.00 [10.84 ~ 28.21 151.82 |3Im%i#BZ 5]|25.00 ~ 28.21 | 3.23 16.33
ThLst 1.00| 3.24 ~ 11.02 100.00 | Zhuist | 040 ~ 11.02 | 3.00 15.16 zhst 1.00 | 500 ~ 10.84 100.00 | =h st | 500 ~ 25.00 | 3.00 15.16
6 100kN/M%#B % % 1.00 | 0.00 ~ 3.02 148.09 |3m%x#EZ5| 000 ~ 0.16 | 3.09 15.61 | 100kN/m#Z# x5 | 1.00 [10.54 ~ 26.11 148.09 |3m%# 2 5(25.00 ~ 26.11 | 3.09 15.61
zhst 100 | 3.02 ~ 1081 100.00 | #h a5t | 0.16 ~ 10.81 | 3.00 15.16 zhs 1.00 | 500 ~ 10.54 100.00 | #h kst | 5.00 ~ 25.00 | 3.00 15.16
; 100kN/m%#8 % % 1.00| 0.00 ~ 290 146.05 [3mZ#EA 5| 000 ~ 0.03] 3.01 15.23 | 100kN/m#%# x4 | 1.00 [10.76 ~ 30.61 146.05 |3m%#B25|30.00 ~ 30.61 | 3.01 15.23
ThLst 1.00 | 290 ~ 10.69 100.00 | =1 A4t | 0.03 ~ 10.69 | 3.00 15.16 zhList 1.00 | 5,00 ~ 10.76 100.00 | #hLlst | 5.00 ~ 30.00 | 3.00 15.16
o 100kN/mZ#8%5| 100 000 ~ 1.64 125.08 |3mZ#BZ % -~ - - —| 100kN/ %% % | 1.00 |11.15 ~ 1859 125.08 [3mZ#BZ 5 -~ = - -
zhLst 1.00 ]| 1.64 ~ 942 100.00 | Zhuist | 000 ~ 942 2.21 11.15 zhLs 1.00| 500 ~ 11.15 100.00 | Zh st | 500 ~ 1859 | 2.21 11.15
9 100kN/mMZ#BZ % - -~ - —|3mZi#EZz % -~ - — —| 100kN/m%# %% - -~ - —|3m%iEz 5 -~ = - -
zhnLst 1.00 | 0.00 ~ 472 58.78 | #nkist | 0.00 ~ 0.00 | 1.65 8.32 FhLs 1.00 | 5,00 ~ 5.00 58.78 | #nllst | 500 ~ 500 | 1.65 8.32
100kN/MZH#EZ % ~ 3mEHBRS ~ 100kN/mMZ#8 2% ~ 3mEHBAS ~
Ths ~ zhus ~ Zznsn ~ Zzhsn ~
100kN/M%Z#BZ % ~ 3mEBAS ~ 100kN/mM%#E% % ~ 3mEHEZD ~
FhLLSH ~ TnLst ~ TnLst ~ Zh st ~
100kN/MZH#BZ. % ~ 3ImEBRS ~ 100kN/m%Z#BZ % ~ 3mEEBRD ~
Zzhs ~ zhus ~ zns ~ Zzhs ~
100kN/m%#B % % ~ ImEBAS ~ 100kN/mM##BZ % ~ ImEHEZD ~
Ths ~ Zznsn ~ Zznsn ~ Zzhsn ~
100kN/mMZH#B 2 % ~ 3mEBAS ~ 100kN/m#Z#E % % ~ 3mEHEZD ~
Zzhsn ~ zhs ~ Zzhs ~ ZhList ~
100kN/MZ#BZ. % ~ 3ImEHBRS ~ 100kN/mZ#8 2% ~ 3mEBRD ~
Zhs ~ Zzhus ~ Zzhus ~ Zzhs ~




